














































































































OA has gradient fB H
c OB has gradient 3A
f

perpenicha gradient
multiply to I

f x f 1

To find a gradient perpendicular to another gradient
simply take the negative reciprocal

Examples 3 and Zz
2 and I

2

Is and I
4

f and 3

and Ig
1 and l

l y 3 1

y 3 2 No not 1

2 5 4 Yes 1
y 2 7

Perpendicular Lines

Decide whether the following pairs of lines are perpendicular

















































































































3 y x

g txt
No not L

4 y 3 x 4 No not 1
y zxt4

5 y Ix 2 No not 1

y axt

6 g Ext yes I
y 3 13

7 y E 7 No notte
y Ix 7

Ext Find equ of line perpendicular to y 2 3
passing through 64,7
Line is of the form y Ix c

sub t d tc
dir

7 2 to

71 2 c
9 c

y Ext 9

Finding Eqns of Perpendicular Lines






1 Find equ of line perpendicular to y Igoe
passing through 10 7

Line is of the form y f xtc
sub

7 IsC 10 toL ios

7 G te

7 6 c
13 C

y fact 13

2 Find egg of line perpendicular to y x 3

passing through 4 1

Line is of form y 4xtc

Sub I 4 d tc
4

l 16 C
l 116 c

15 c
y 4 15

3 Find equ of line perpendicular to y xt4

passing through C 3 e

Line is of form y x t C

sus 2 C 3 to
C 3 2 z 1 3 c

z 3 C Yi X 5
5 C

Exercise



4 Find eqa of line perpendicular to y 3se 1
passing through 14,3

Line is of form g Ipsc c

sub
14,3 3 la c

3 G to
3 16 c
q C

y E 9

5 Find eggs of two lines one parallel to
and one perpendicular to the line y Zac 4

Both lines to pass through the point f to 1

Parallel line of form y x c

sub 10,1 I IEC Io 1 C

I 4 to
I 14 c

Y Ex 15 5 c

Perpendicular line of form y Ex to

Sdf 10,1 I Efio to

1 25 to

Ex 24 I 25 c
24 c




